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Qu.L.(i) 1/(125a); (ii) 9; (iii)1.

Qu.2. (i) "b4", (ii) 12a2b; (iii) 2019 (iv) a® + b?%; (v) 1.
Qua. (i) 13; (i) 5 (i) 3; (iv) 0.3; () & (vi) —; (vi
Qud. (i) G\f (ii) 5 + 2v/6.

Qu.5 (i) 7; (ii) 2; (iii) 2165 (iv) 36; (v) 13 (vi) 27; (vii) 10.

Qu.6.(i) 5a/b; (ii) 16a2b; (iii) ab; (iv) 2/6; (v) a — b; (vi) 3b%c2/ (4a )

Qu.7. b= a3y~ 1,

Qu.8. (a) log, 16 = 2; logy81 = 4; logsy 16 = 2;

8 57=g55 ()32 15 49

Qu.9. (i) 4 (i) 2; (111) 3.

Qu.10. (i)10,000; (ii) 64

Qull. (i) 2, (ii) 2, (iii) 1.

Qu.12. 2log;pa + 3log o b — 2 — £ logy, c.
Qu.13. y = 100/3.

Qu.14. (i) log12; (ii) log (¢/b); (iii) logy.

(b) 10* = 10;
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Qu.2 (i) 2cosz + 1; (ii) In2 4 In (x + 1).
Qu.3 4.0535.

Qu.4 1.10, 0.
. 2 . 2
gu.g (1)>(:L'25+ %) f% (i) — (:c - %) +% (iii) 2 (1’ -
u.0 ¢ ~ 7
Qu.7 (i)
1 4 1
3\x—1 zx+4+2
(i)
1 Tz +1
r+1 2241
(i)
1 1
zr—1 (z-1)
(iv)
4 1 4

-t + +
z+1 (x+1)2 T+ 2

23 =



1M1 Mathematics Answers 3

Qu.1 2x—1+z—£3—ﬁ.

Qu.2 1.60064 x 1077,

Qu.6 (i) 2.

Qu.7 2.

Qu.8 (—1,—4).

Qu.9 5 units, %.

Qu.10 (3,-2), 4.

Qull ()y=1-22 1<z <1 (i)y=2%2>0. (i) y = +2%2, 2 > 0.
(iv) y=1+2? —oco <z <oo. Q

Qu12. (V2, 7/4), (V2,31/4), (2, —7/6).
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Qu.l (2,-1), 4, Qu.2.(i)

rcosxr —sinx
2
.(ii)
—t 4+ 223 + 322 + 42— 2
(22 +2)% (z + 1)

(i) n32" or (In3) 231 (iv)

2ax + b

ar? +bx+c
Qu.3 (i) —sinzcos (cos ) .(ii) 25524 (i) 0.
(iv) ext™! +e®.(v) e*t¢".Qu.4 (i) 10z cos 522, 10 cos 52 — 1002 sin 522
(i) (@ +1)7%, —2(@+1)"".
(i)a/ (22 +4)"%, 4 (22 +4) 7% Qub. (i) 2ze” + a%e” = (2 + 22) €.
(ii) (2% 4 42 + 2) e”.
(iii) (2? + 6z + 6) e”.
Qu.6 (i) (%, 2%) ;maximum;(1,0) , minimum.
(i) (2+v2,3+V2), 2 =2 — V2 a maximum, z = 2 + v/2 a minimum.
(iii) No stationary points.
Qu.7 (i) 2/v1—4a?, (ii) 5/ (25 + 2?).
Qu.8 (i)
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Qu.9 (i)
oty 2 [1 +y + (y’)ﬂ

2y +a’ 2y +x
(i)
2z (1 - y3)
3(1+a%y2)

Quloy =1,9y" =22 at t = /4. .

Qu.11.
1 K K
0 (M“" w) <M +w2> i

w=+/K/M, Q= L, a minimum.
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Qu.1.(i) 7% cos2mx + ¢ ; 0. (ii)%e‘:’x + ¢ 6551.
(i) 2(1+2)"* + e 2(vV2-1);  (iv)&sin? 2z + ¢ = — 1L cos? 2ma + ¢ =

i 4
—35- cosdmz + ¢; 0.

Qu.2. (i) 55 (222 — 3)6 + ¢ (i) =% (9— 22)3/2 +c;

(i) 12+ (iv) =2 @4-50)"" 4

v) 0.0665; vi) Le?’ 4 ¢

(v) p

(vii) % sec 3z + c. (viii) In2 — 3

Qu3 (i) 2sin™' () — davA—2Z+ec (i) —¥ET —sin! (2) +e

Qud (i) 2(z+1)e*+ec. (ii) fa?sindz + fxcosdx — 55 sinda + c.

(iif) ztan ™'z — 3 1In (1 4+ 22) + ¢ (iv) I =z (Inz)* — 2z (Inz — 2) + ¢
11 12 . o

(V)ﬁ(a:—&—l) (x—|—2)—ﬁ(x+l) +c. (Vl)%(l—e ).

Qu.5 (i) ZIn|etbe| — Ly e (i) Ir (i) In 3 — 2.
Qu.6 (i) & sin~! (22@—51)% (ii) 2 (VZ — 1 — tan~! v/z — 1)+c. (i) sin (x—
VI+2z—a22+c¢
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